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_ ] A, B & C. Carelully read the instructions for each section and allempt
accordingly. Allempl all questions ol section - (A) and relurniit to the superiflendent withinthe given time

Time: 20 Wins Section "A”

D. Greater than or equal to

Q.1 Wiile the. correct option i.e. A, B, C or D'in fﬁe‘emply box provided opposile'each pail.
i (-l —- ) ) ) , 7
At -t . B 8% - + b? C. a® - 2ab + b? D. 2+ 2ab + 17
i, Conjugate of 52 G5 ..evi e , i
A=5-2 i B.5e2f5 . 37378 D.5+2
il LCM. ol (a-b) and (a=D)2is oo
A (a~b) . B.(a-b)* “C.(a-b)* D.'(a - b)’
V. The value 6f 3b + 56, When b= =4, ¢ = 38 v ovrri oo '
RN : B, 3 C.-12 HE R T4
Y- The solulion set of /X =~ 1008 evvvvnve oo ‘ '
A {100} B. (10} © G0} D.:{ }
vi.  The two coordinale axes intersect at an angleof ...................
LA . . B4 gipot. D. 90°
Vil e vy, ) L :
L~- ——,—~-;}--J Is callpd ......................... 7 :
A. Ml puint Jennuia | 2. Distance formula €. Ralio formula D lDivision formula
'w-ii. How many.acute angles are theie il.’l an acute angei trangle? i 7 .
Al _ B.2 ‘ ‘ v C.. 3 7 D. 'va'ry' fronm liiangle to Irianglo
ix. I :I,um-_of the incasuies ol <A.and <C ofa péralleloQ?an‘a ABCD is 130° then < B = ,...........
CA B. 65° _ C. 60° D. Gieater than 90°,
X, Parameler of a reclangle is 22cm. ‘Ieng'lla of lls diagonal I8 e 11em
A Equal o ~ B. Greater lhan B C Less than
i IfAs a square malix and A' = A, then AIS e 7 ! _
A. Skew-symmelric malix — B. Syrnmelric matiix C.‘ Diagonal matrix :D. Scalar inalrix
NI The sitaplificd from of %:Ib oo, | : .
A Y B. 3" C.7 D37
Xil,  Jiay= .
AT B, ~1 C.i B.0
xiv.. . Tho sl:dndurd 101 0f B.92 X 10728 oveev e cevars i _
A. 0.0000892 © 3.0.000892 C. 892000 - D. 8920000
XV, Chare-aclen‘isliq of log (23.557) 1 T ' .
| l c.o 0.1

..............................

Marks: 15



Tirne: 2 hours 40 minutes.
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m\swor any NINE parts. Each pdl‘t carrios eyual marks. - oL T

Golva lho syaiem of linear eguations 4% + 3y = =2, X~ zy ] bg Uulﬂg Gramer’s rulc

zt"l KL RILE 6“ : _ :

TRA0TEISE

) IOJ 2= 0,3010, lag 3 = 0.4771 and Iog 7 0. 84.:0 thcn without using the logarllhmuc tablo nnd lna
value of log(42).

fa+rb+ cnsar1ddb0bc+ca=11 !}wnfndthevalueofa -t'b‘+c

lmplnfy :

If K& s find tha valud of %2 +
J Pl

I-d(.larlze x1 -yt ) .
‘Usiing tactor thoorem to factorize =305 - 124x a4 .
E-lnd the H.C.F by division method of y° - 3y + 2 and y° - 5y* + 7y -3

RS o
Find the squart root of (x —-]—z-) -12(x —-—1—1) + 36 (% » 0} by division method.
: X x -

‘3
Find the sulullun suls of -2-x =T =4 and verify the answers.

Iy =Bx 4, find the missing In the ardored palrs (3, )und ( +=1)
Lot A=[3, 2 1]andB -3, 4, 2] prove that (A B) = Al

“Section “C" ' _ Marks" 24

Nots: Auemgt any THREE or the following. All queslion carry equal marks,

Q.3
Q.4

2 | b

Show thai the: points A(1, 2); B(3,4), C(4,5)-and D(2,3) are ;hp veruceo ofa rectangla Also verify that
the.diagonals have equal lenglh,

Shov that tho medians of a trlangle are concurrent und thalr point of concurrency Is the point of
wisecllon of each median,

JQSG - Erom the point outside a line, the purpendacular isthe shorjeqt distance from the poml to the lme
' Q.b .. Draw a Uianglo PQR, such that mPQ 6.6 cm, mQR 4.5¢m and :nI P = 3.4 cm, Cunsuuct a.
" tiangle SPQ uquwalent inarcatlo the tnangle PQR. o _ _ _' N,
36 B : ' ' 240 fz s
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o lad 31ﬁ~e §PH f i

-»dftJ'! 67107 157 -

l":l"u‘ Jlu;_,(‘ii),a"{:dl“"d)ﬂb/15’)’}1-10g7 0. 84\)00110&3 0. 4771 1052 0. 310{( i
~f

-rab+bc+ca 1'1ma+b+p # 6.8 ufrP_JJaz+b2-i ¢? v
-Jf‘:h"f 2 ’Jl +-—--:'.~- X= 21 l/rl Y

’ LSSy v

-ufd’f(x’ 302 ~ 17 4% — BA) sl S s G f b VI

et P S 6yHTY-B) iy ~ By + 2) W

X# O.Lf.'.-”‘/r:‘-‘*;z(f[x‘ _.};)? _.1')(*-’ ,Aj:.).;.:;(,-c.-...ij,_)f.(nj X

'(//Urdb/"é,{- b/;a/,l.Jf(:'” "’J(-nx 7 = bl >X:

-u‘/r:"*._n Strar ee L )3, Jesns iy = Bx—asi K
(AD) = Al- Bl fetiB = 3, 4, 20wiA = [3, 2,114 X

] vl z.’_umrrl.i‘-._]f Lot wdfis
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